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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA1.1 To what extent do you agree or disagree with the following statements?
You feel a personal responsibility to act to limit climate change (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA1.2 To what extent do you agree or disagree with the following statements?

The green transition should not leave anyone behind (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA1.3 Towhat extent do you agree or disagree with the following statements?
Climate change is something that frightens you (%)
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Fairness Perceptions of the Green Transition

QA14 To what extent do you agree or disagree with the following statements?
You are confident that by 2050 sustainable energy, products and
services will be affordable for everyone, including poorer people (%)

() 8 8 []
] o & = z K o
a (@)} © © 8 s ()}
© © 2 ) < o) ©
> @] o © - < [a)

= + o > f f—
g 2 o = S 3 s
[®} - -
=2 8 B - SR
(V] [qV] (V] [qV] [qV] oV} (V]
[qN] [aN} [qN] [aN} [eN} (V] Al
(@) o o o o o o
(V] [qV) (qV] [qV) [qV) (qV) (qV]
C ey C ey ey C ey
=) > =) =) =) =) =}
N N N N N N N
= = = = = ) z
> > > > > > >
Ev27 14 32 31 17 6 46 48
BE 11 12 35 36 16 1 47 52
BG == 12 31 24 14 19 43 38
CZ b= 4 27 40 22 7 31 62
DK omm 22 37 29 11 1 59 40
DE = 10 33 33 21 3 43 54
EE e 10 26 30 23 11 36 53
iE BB 15 34 29 13 9 49 42
L = 6 27 41 17 9 33 58
ES = 13 30 26 23 8 43 49
FR 11 8 22 37 27 6 30 64
HR 16 44 24 13 3 60 37
T B 28 43 17 7 5 71 24
cY c 16 25 25 20 14 41 45
RV 7 28 43 17 5 35 60
LT 9 27 33 21 10 36 54
(U — 10 36 30 17 7 46 47
HU 15 35 27 15 8 50 42
MT  * I 16 28 36 14 6 44 50
NL 12 25 45 17 1 37 62
AT o 16 35 29 15 5 51 44
PL o 16 38 30 10 6 54 40
T ER 13 27 38 9 13 40 47
RO 11 19 42 27 6 6 61 33
S G 11 21 42 23 3 32 65
SK  Em 13 30 29 20 8 43 49
Fi - 9 34 40 14 3 43 54
SE  am 8 25 39 27 1 33 66




Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA2.1 To what extent do you agree or disagree that each of the following actors is
doing enough to ensure that the green transition is fair?
Private companies, businesses (%)
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Fairness Perceptions of the Green Transition

QA2.2 To what extent do you agree or disagree that each of the following actors is
doing enough to ensure that the green transition is fair?
Your regional, city or local public authorities (%)
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Fairness Perceptions of the Green Transition

QA2.3 To what extent do you agree or disagree that each of the following actors is
doing enough to ensure that the green transition is fair?
The (NATIONALITY) government (%)
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QA24 To what extent do you agree or disagree that each of the following actors is
doing enough to ensure that the green transition is fair?
The EU (%)
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Fairness Perceptions of the Green Transition

QA3.1 To what extent do you agree or disagree with the following statements about
the green transition and the fight against climate change?
You should personally do more than you currently do to contribute to
the green transition and tackling climate change (by consuming less or
saving energy for example), regardless of what others do. (%)
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Fairness Perceptions of the Green Transition

QA3.2 To what extent do you agree or disagree with the following statements about
the green transition and the fight against climate change?
You do not need to take action personally to fight climate change if
other people in (OUR COUNTRY) take no action either (%)
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Fairness Perceptions of the Green Transition

QA3.3 To what extent do you agree or disagree with the following statements about
the green transition and the fight against climate change?
(OUR COUNTRY) does not need to take action to fight climate and
environmental changes if other countries take no action either. (%)
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Thinking about the main reason why you would reduce your energy use,

QA4

which one corresponds best to your own situation? You would reduce your

energy use:
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Fairness Perceptions of the Green Transition

QA5.1 How confident or not are you about these statements regarding the reduction of energy use? Please use a scale from 1 to 10, where 1 means 'not at all confident,
and 10 means ‘completely confident’. The remaining numbers indicate something in between these two positions.
Overall, how confident are you personally that you could use less energy than you do now? (%)
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Fairness Perceptions of the Green Transition

QA5.2 How confident or not are you about these statements regarding the reduction of energy use? Please use a scale from 1 to 10, where 1 means 'not at all confident,
and 10 means ‘completely confident’. The remaining numbers indicate something in between these two positions.
Overall, how confident are you that a large number of people in (OUR COUNTRY) are ready to limit their energy use in order to limit climate

change? (%)
P~ o —
+ + = S
7 a o = T i
£ 5] > = = © o
9] i) o et 5] = +
2 S z . 5 e 5 e
g o2 8 £ % £ 5
2 z ~ c v} < he)
= o o <t wn © ~ [ee} o o o - o - 8 =
© 1} eyl = o o o c
® = 2 I} 5 < [} S
5 g = e N £ 3 >
z S 9 g = = 3
- = b > & ) ~
- o — = = ©
s 3§ & g
gk .
o~ [ [V (] [V o o [V N [V [V N [V [V (] [V
o (V] o [aN] o o (V] o o o o o o o [aN] o
o o o o o o o o o o o o o o o o
o o o [aV] (V] o (o] o o (o] o o (aV] o [aV] o
C C C s C C C C o C C s C C s C
=3 3 3 =3 =} 3 =} 3 =3 =} =} =3 3 3 =3 3
N N N N N N N N N N N N N N N N
> > > > > > > > > > > > > > > >
© © © T © (1] © © © © © © © © T ©
b3 b3 S > b3 b b3 b3 b b3 S b b3 b > b3
EU27 H 7 6 13 14 21 13 12 8 2 2 0 2 26 35 25 12
BE N1 7 7 16 16 22 15 11 5 0 1 0 0 30 38 26 6
BG = 13 11 16 11 16 8 8 6 3 3 0 5 40 27 16 12
CZ m 18 15 22 14 17 4 4 2 1 1 0 2 55 31 8 4
DK gmm 5 4 10 13 22 15 17 9 1 3 0 1 19 35 32 13
DE = 4 5 13 16 26 12 12 8 2 1 0 1 22 42 24 11
EE = 10 9 15 13 22 8 9 6 2 2 1 3 34 35 17 10
IE il 5 5 8 10 20 13 12 13 7 5 2 0 18 30 25 25
(I — 6 13 16 14 20 12 8 6 3 1 0 1 35 34 20 10
ES = 7 9 13 16 24 9 11 6 1 1 0 3 29 40 20 8
FR 11 6 5 13 13 25 14 11 6 2 3 0 2 24 38 25 11
HR  im 11 8 13 12 19 13 10 8 3 3 0 0 32 31 23 14
IT il 5 4 7 11 16 17 21 12 3 3 0 1 16 27 38 18
cY = 4 3 11 8 24 11 16 13 3 5 0 2 18 32 27 21
AV 11 8 13 16 25 9 8 4 2 1 1 2 32 41 17 7
LT mm 6 4 12 10 25 13 11 8 3 4 1 3 22 35 24 15
LU 5 8 14 16 22 13 13 4 2 2 0 1 27 38 26 8
HU 7 5 10 11 23 13 14 7 5 4 1 0 22 34 27 16
MT I 10 7 16 15 26 13 7 3 1 1 0 1 33 41 20 5
NL 5 5 15 17 18 18 14 6 1 1 0 0 25 35 32 8
AT o 5 7 11 9 19 14 14 9 6 4 0 2 23 28 28 19
PL  m 10 6 15 14 18 13 10 8 2 3 0 1 31 32 23 13
T EA 5 9 19 12 17 8 9 5 3 5 1 7 33 29 17 13
rRO 11 10 10 14 17 17 13 8 5 2 1 0 3 34 34 21 8
Sl e 9 8 15 17 19 11 9 6 2 3 0 1 32 36 20 11
SK S 7 7 14 14 19 12 11 7 3 4 0 2 28 33 23 14
Fl o= 5 7 10 11 17 17 18 10 2 2 0 1 22 28 35 14
SE =m 7 5 13 18 22 14 13 6 0 2 0 0 25 40 27 8
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Fairness Perceptions of the Green Transition

QA6 | et's now talk about your energy consumption. How does your energy consumption compare with that of other people in (OUR COUNTRY)? Please use a scale

from 1 to 10, where 1 means ‘among the lowest compared with other people in (OUR COUNTRY)’, and 10 means ‘among the highest compared with other people
in (OUR COUNTRY)'". The remaining numbers indicate something in between these two positions.
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Which of the following groups of the population in (OUR COUNTRY)
do you believe should particularly make more efforts to reduce their

QA7

energy consumption?
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA8.1 For each of the following statements,
please tell if it applies to you.
In the last 5 years, you have taken
one or more measures to make your
home more energy efficient (e.g.
thermal insulation, changing doors

and windows or the heating system)
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Fairness Perceptions of the Green Transition

QA8.2 For each of the following statements,
please tell if it applies to you.
In the last 5 years, you have received
public funds, subsidies or financial
help to make your house more
sustainable or energy efficient (%)
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Fairness Perceptions of the Green Transition

QA8.3 For each of the following statements,
please tell if it applies to you.
You believe your home needs an
energy efficiency renovation (%)
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Fairness Perceptions of the Green Transition

QA9A Regardless of whether or not you have taken any measures, what are the main obstacles to making your

home more energy efficient? Firstly?
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Fairness Perceptions of the Green Transition

QA9B And secondly?
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Fairness Perceptions of the Green Transition

QA9T Regardless of whether or not you have taken any measures, what are the main obstacles to making your

home more energy efficient? Firstly? And secondly?
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA10.1 To what extent do you agree or disagree with the following statements about
the role of work and jobs in the green transition?
Your job is contributing to advancing the green transition (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA10.2 To what extent do you agree or disagree with the following statements about
the role of work and jobs in the green transition?
Being in a job that contributes to advancing the green transition is
important to you personally (%)
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Fairness Perceptions of the Green Transition

QA10.3 To what extent do you agree or disagree with the following statements about
the role of work and jobs in the green transition?
Policies to fight climate change will create more new jobs than they will
remove (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA10.4 To what extent do you agree or disagree with the following statements about
the role of work and jobs in the green transition?
Policies to tackle climate change will create good quality jobs (in terms
of earnings, job security and quality of the working environment) (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA10.5 To what extent do you agree or disagree with the following statements about
the role of work and jobs in the green transition?
Your current skills allow you to contribute to the green transition (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

On a typical day, what is your main mode of transport? By main mode, we mean the one that you use most often.
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA12.1 How would you rate the quality of public transport in the area where you live?
In terms of availability: availability refers to the existence of sufficient
public transport services to enable you to reach the places you need to
go to, in terms of quantity and type. (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA12.2 How would you rate the quality of public transport in the area where you live?
In terms of affordability, that is the money and time required to travel
by public transport from one place to another. (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA12.3 How would you rate the quality of public transport in the area where you live?
:In terms of quality: quality means punctuality, cleanliness, safety, ease of access
and comfort.
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA13  From the following list, which aspects would help you the most to adopt a more sustainable transport mode? (MAX. 3 ANSWERS)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA14 How long does it take to walk from your home to the nearest green

space?
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA15 Taking all aspects into account, how satisfied or dissatisfied are you with the
quality of the nearest green space to your home? 'Quality’ might include how
well it meets their needs, whether it is safe, attractive, free of litter or other
mess, and the quality of the facilities if there are any.
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA16.1 To what extent are you for or against the following policies in [OUR COUNTRY]
to limit climate change in a way that it is inclusive and fair and leaves no one
behind?

Increasing [OUR COUNTRY]'s investments in public transport
infrastructure (e.a. trains. buses) (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA16.2 To what extent are you for or against the following policies in [OUR COUNTRY]
to limit climate change in a way that it is inclusive and fair and leaves no one
behind?

Taxing products and services that contribute most to climate change,
and redistributina revenues to the noorest and most vulnerable
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA16.3 To what extent are you for or against the following policies in [OUR COUNTRY]
to limit climate change in a way that it is inclusive and fair and leaves no one
behind?

Allocating a quota of energy to each citizen to ensure everyone makes
their fair share of effort to tackle climate chanae (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA16.4 To what extent are you for or against the following policies in [OUR COUNTRY]
to limit climate change in a way that it is inclusive and fair and leaves no one
behind?

Subsidising people to help make their homes more energy efficient,
especially poorer people and the most vulnerable households
(insulation, clean heatina and coolina. enerav production units, etc.)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA16.5 To what extent are you for or against the following policies in [OUR COUNTRY]

to limit climate change in a way that it is inclusive and fair and leaves no one
behind?
Encouraging private companies, through rules and incentives, to (1)
reduce their emissions faster, (2) switch to more energy-efficient
production methods, (3) adopt more circular and sustainable processes
and (4) retrain their workforce as needed (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA17.1 In your opinion, how serious a problem is each of the following aspects?

The level of energy prices for people in (OUR COUNTRY) in general (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA17.2 In your opinion, how serious a problem is each of the following aspects?
The current cost of your household’s energy needs (lighting, cooking,
heating, cooling, running appliances, etc.) (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA17.3 In your opinion, how serious a problem is each of the following aspects?
The current cost of fuel for your transport needs (public transport, ticket
price increase, private cars, your daily or less frequent mobility needs

etc.) (%)
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Special Eurobarometer 527
Fairness Perceptions of the Green Transition

QA18 Would you be willing to pay higher energy prices if that helps to speed up the green transition?
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